PHYSICS 11
NAME: k'@\/

Basic Skills Worksheet

Convert the following to scientific notation in standard form

1) 43126, Y, 3!26%07 1)

) 0042 Y20 2) .
3)  -700000 - 3xto® 3)

4  -0000150 ~ 1.50 o™ 4)

5 0075x10° < (35057 ) ¥i0" = F S0 TS 5)

6)  970x 10" (‘i, Qo r/olx/u’ 7= 9,%/0"2 6)

7y  -.000516x% 107 <, S {6xt 0""-) o> - S /60” 7 7

Round the following to the number of figures shown and convert to scientific notation in standard form
8) 634000 round to 2 figures ~ (, S 0o = (,3 /0 d 8)

9) .0345 round to 2 figures L OYS < 3;:"/04’ 9)

iO) 298.76 x 10 round to 1 figure <3, O x /()+1) /0 7. 3,0;(/«'):l 10)

11)  8.651 round to 2 figures &, 73 = &, ‘J}y/ab | 11)

Unit conversions

i SUL W M __I__PS;: s
12) 3500 mmintokm 3 (wwm“)(ww = DU%s Jw« 12)
3,5.%10 KV”‘
13)  22.3 metres/second into km/hr 13)
213 M ,%oof ( AL 5’03':44/
Jwv S
14) 4584 secs to min & hours 14)
Yy o %,L/( IHr }
Sec- —Z’jg) . }L'QVV\/\A n ()();MM,
s ¥ Hr
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Puysics 11

15)  Graphing

Graph the following data on the graph below: (

X 12 |22 [33 [42 [53 |62 |74

Y 35 |44 |56 |64 |73 |83.1]92
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a) Determine the slope of the line from the graph

b) Estimate the y-intercept of the graph, and combine it with the slope to determine the equation of the
line. Your answer should look like this: y=mx+b - write in your values for m and b.

Solve the following equations:

16)a—t'Z:lf} a=03%
17)x—11=45 X=S6 ,
=t 1 (
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Puysics 11

NAME:
18)17 +x =29 27)25 - 17x =8
A -y -ty
o L ,,1%"*"} v:;“‘,
¥
-t -G - -
AL =1 ey
q
1 29)3x —9=-33
21)(%}(12>w =Yg )XH 1
LY
s 2 L
> 3
2x/% \
2,2)7(%}1()(%): -5 30) 247=-2
Yoy
(%)) >736
| 23)_(”7/2807) 31)—--6 15
+(, +c
".)( =
32)25-—%:15 ;
24)3x +7 =34 -5 >:b
-1+ -y i{(”;)— //0(;3) ><=S0
32T
2
){zq 33):2-3-’5—;-7:—-17
5)3x — 11 =46 -t
25)3x—-11=
'Z,V"t‘: ~ Y 3 -
ER TR | 3 —i) £ ?;[(/,L) ?X 3L
Ix=3IY = [
ke 3 34) X L 6=18
26)17+2X=-29 _(, <0
-1 ¥
$ Yy, _
SR R SIS A5 i) x=F
. T
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PHYSICS 11

35)3’5—11.—:45
i

x5 S4 )

36)25—3335=15

-5~ 2% ..
N\~ e
~%7LL"§’( 7o ( }
373(x+5)=18 .
Sxt(s =10
- I { - ’ﬂy

33{’ = }
Solve the following triangles:

x =89

x= |5

= |

»//) In the triangle, determine £J to the nearest degree.
a) 27° b) 31° ¢} 53°

éam”’(%>

d) 59°

'{l) In the triangle, determine ZK to the nearest degree.

a) 24° b) 34° c) 43 d) 47°

oy Zc(? >
éam 3,8

Lﬂ) In AN?Q, calculate £N to the nearest. degree.

a) 23° b) 25° c) 33° d) 65°

38)2(x — 7) = 22
P /
/‘L /k

*=F =N
13t

39)5(4-x)=55
{ -

L/"X //”
,_u’ Y

40)3(2x +5) =21
~ B 7

e) 36°

e) 677

)

—X-= ;L
<= =F

Page 4 of 6




PHYSICS 11

'—/ ll> In AABC, caleulate AC to two decimal places given that /B =50°.

aj 0.40m b) 1.93m ¢) 2.30m d) 2.52m e) 3.58m
P
bun s : T ) = 3 tanSo”
\'[5)111 the triangle shown, determine ZA to the nearest degree.
a) 29° by 24° c) 32° d) 667 e) 68°
- ( A >
Sin 5
// (,) In the triangle shown, determine ZA to the nearest degree.
a) 18° b) 25° ¢) 28° d) 62° ¢} 65°
. _ - ( i “5
i Lig
LM)In the triangle shown, determine ZA to the nearest degree.
a) 32° b) 36° cj 43° d) 47° e) 54°

a1

—
[{

)

l/f % ) In AABC, caleulate AC to the nearest centimetre given that £C = 52°,

(68

a) 18¢em L) 20em ¢} 25¢m d) 41lem ¢) 52em

X

o

L

Cos>SL~ 20 COS5 S =K

LI‘?) In AABC, calculate AB to the nearest centimetre given that /B =29°,

a) 20em b} 23cm ¢) 37cm d) 48cm e) 76cm

>(

r—

; | (0529 ¢
A 71

X E YD cos a9’

A
3.0 m X
B C
R
6 om 156 cm
M

1l m

8m

T
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PHYSICS 11

Answers:

4.3126x10*
4.2x10°
-7.0x10°
-1.5x10-°
7.5
9.7x10?
-5.16x107°
6.3x10°
3.5x102

. 3x10?

. 8.7

. 3.5%10% km
. 80.3 km/hr

14.
15.
16.
17.
18.
19.
20.
21.
22,
23.
24.
25.
26.

76.4 min, 1.27 hr

9
56
-46
17
9
48
-15
259
9
19
-23

27.
28.
29.
30.
31.
32.
33.
34.
35.
36.
37.
38.
39.

11
-8
-36
63
50
-36
15
84
15

18
-7

40,
41.
42,
43.
- 44,
45.
46.
47.
48.
49.

OWQOWE > W g,
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